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B.Com, (Part - ltl)
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Term End Examination 2OL9-20

Corporate Tax Planning
And Management

Time:Three Hours] [Maximum Marks:50

qie: wfi cc-d d vtr{ frfuq I qrfi cf{i d 3l-o wqn d t

Note: Answer All Question. All Question ca ual marks.

,/ uNlT - 01
,r$r 1:-6-r c-{,Er e-do' o-{EkTr d ftc oTrzrrq-fi d fu-{ ot Frqiqt d-o-fu6 t | ft;qut o1ftq t

Tax Management is essential for every assesses but Tax Planning is optional. Comment.

erwr (or)
oq msq o-r-e-q{ t fu-s v-on ftq *or tl
How is Tax planning different from Tax Evasion?

E6r{,/ uNtr - 02
ssq 2:-6-qM d o-q ftqkur $ asq+1 tl r5u frts-d-rq Eqr B?

What are the Salient feature of assessment of joint stock Companies?

opfir (or)
nao' fr+c ft. vo qri-ftq -q-* t r sr qrd zors 6) wffq ili srd s{ d frq {q-+1
enq srqi t crw Eg ,-(o) ff+< d qrqn t anq
(u) \.fu. 1o. qR-ftq o-qfr t dFfrvr
(,r) fr.ft. To. fuM 5q6 t dFtT{r
(s) #q s{dnri 01 sfr TM w qrq
(s) rfi rr{q d rwr<-rq t ersorffq gfr anr 3,80,000

E-si ctTrqq* d 3l-ora {r6rrrar 6}s i +6 Ertr 2,oo,ooo r fu} eil'q {s {rRr 6}
mnE #s-sre{ r} enr d w i $w frsrdl .rff rs,oo,ooo u qff ffi qqq r-fr q-cm rrcn 

I

o-qfi i qrr-frtrk.,r q{ zors-zo d ftq 4,00,000 r erFrq o-r d grarq d vq d
forn t em-o} gfl o-t furf{ur s{ d ftq uFlq g'ron of {rRr \rs v{Tq teffi w o-re Tn
ot (uR oH ED o.i qdri d crara 6-qfi ErT tq erq-o-q of g< qrRr or ofl?DeFr or=rr
tr
The chetak Cement Ltd. ls an lndian Company. lts income for the year ended 31't
march 2019 was derived from the following sources: -

15,00,000

1,60,000

40,000

20,000

(a) Profit from business of cement
(b) Dividend from A Ltd. On lndian Company
(c) Dividend from B Ltd. A foreign Company
(d) lnterest on central Government Securities
(e) Short-term capital gains from transfer of a building

15,00,000
1,60,000
40,000
20,000
3,80,000

It has paid a sum of Rs. 2,00,000 to the Prime Ministers Drought Relief funf by cheque and this Sum
was not deducted while arriving at the sum of Rs. 15,00,000 shown above as per profit from the Production
of cement.

The Company has deposited Rs. 4,00,000 to words Advance payment of Tax for the Assessment Year
2OL9-20. You are required to calculate the net amount of income tax payable by the company for this
assessment year after giving credit for advance oayment of Tax and tax deducted at Source lf any.

goT{,/uNtT-03
s5q 31-"6qfui d T+ts-iq d sre-aT t oq ffiwc" rr{ +e frfuc r

Write a note on "Tax Planning in relation to amalgamation of Companies,,.

srQrEr (or)
A W B V6 aFNIrq snrq 6-$IT qrri t fu{ro.r ot-JqTf{d ErrlT io,oo,ooot t I vi-d crflqq{rrqdqrsc+fucdfuoet:-
(or) qrffi q-d :-
1. s-dfr sfr z,so,ooo r ffi qr 12%qtur,
2. s-6f6 d 2,oo,ooo r qfilo d-aq,
3. *s drq qq5Eq qfenT 

I(e) o-qfr '-
r. c-+o of s,oo,ooo v rfvifr \tf z,so,ooo F Eq rsxot <r t,
2. e-+6 6) 2,oo,ooo srffi6 +d-{,



3. vls dI,r aFTfct d qq { qtr+q fuiR-a orcr t

q6 qTftq fu orq4 @ 25% 311116-{ sq-qd rsrqaa \d RIeil Brrrr ti d fuq 3nft
t r o-q d Effir t o}< sr fuo-e sfua t t

A and B want to start a business, the estimated profits of which for the year are Rs.

10,00,000. They have two options for selecting a firm of organisation: -
(a) Pannership firm: -

1. 12% interest on capital of Rs 7,50,000 eacg.

2. Salary Rs 2,00,000 p.a. each.

3. Equal distribution of remaining profits.
(b) Company: -

1. Rs 5,00,000 each as share capital and Rs 2,50,000 each as loan @15%.
2. Salary Rs 2,00,000 p.a. each.

3. Distribution of remaining profits as dividend equally.
Assumed Company is liable to pay income tax @25% + Surcharge + Health and

Education cess which option is better from tax paint of view.

56r{/ uNlr - 04
q{-{ a;-futq 6-{ qr+nq qqr t? ffii d fuq qn 6rflfl-rltr-f,T of qsf dfuC t

What are Special tax provisions? Discuss the tax incentive for exporters.

otqro (or)
Ei.rr qFrT{ d" d $rE-+r d o-r qrqqrq w ftquft frfuq f

Write a note on Tax Provisions in respect of free trade zone.

EoT{7uNtr-05
,rrq s:-?FT d 3rFJq grrdn t enq cqr s{fld t? Es qqrEr I enq-o-r 3TEftqq d rgu crqETnY

of we qrqr o1fuC r

What do you understand by advance payment of Tax? Explain Clearly the provisions

of the lncome Tax Act in this respect.

eremr (or)
x ft. erErft qrs-srfufr .rfrfrMt d fuq FrqftfoT .rq{t 6r BT+q o-rft t ,-
r. sri d rs-{ q qffif, irrrctFrr fusol qrffio. fu-irqr Til e dr€r rF t I

2. orqffiq rrf,{- (sf cr. fr. fr 30,000 s yndcrg fu-*X w fuqr t

3. l)-<rq- ffi oTn-ft cr6dr t 10,ooo s cFdqrE futtq ca fuqr t

4. s-q?q-6 snsrs ftrfr 3ffi t 7,000 F sFdqrd fo'vrq w fu{II t

s. d fuq 6 c-+d- ffi Vfi-dr t z,ooo rr cftqrt cfr Efu fu{rq ftri r

ffiq s{ 2o1s-20 q o-q-fi gM grrdn fuc uri srd fu{rq qr v(.Fr *era w ot
qd Erff o-eYft o) sra +tfuq r

For operation of business activities x Ltd. Uses following building: -
1. Factory building Self owned - annual rented value Rs. 9 lakh.
2. Office building - taken on rent @ Rs 30,000 p.m. from m/s Durva Pvt. Ltd.
3. Go down - taken on rent @ Rs 10,000 p.m. from Smt. Arti Pathak.
4. Managers house - taken on rent @ Rs 7,000 p.m. from Smt. Anjali.
5. Six flats for employee - taken on rent @ Rs 7,000 p.m. each flat from Smt. Sunita.

Calculate amount of T.D.S. in respect of rent for the financial year 2019-20.


